EHEIFmE  s=1/1000

1TX IR L=175 0m
(&) MBIER L=452. 2m (L175. Omii7. 3m=A1277. 5m2)
HEEhRIEZE A=3070m2 (EELHLIE REMITRA TR

= ek BE - SRERREE A=1278m2
oo EEHEAs A=3070m2 FE5onEs S EH EAS A=1278m2

3TX fEITIEE L=50 Om 2TR FETHER =227 2m
L50. Om+W6. 3m=A315. 0m2) (L227. 2m*WV6. 5m=A1476. 8m2)

(ELEE 2R RBITRA TX) (FEENEE REBITIA TiX)
SHZE i A=315mZ SEhRIBE A=147Tm2
[EbemEAFHIEAs A=315m2 [EScmEAZHEAs A=147Tm2

2

{EAAINAT &5

{EAARNFRL

Eheax st K&

RIfEL EE4385 - T MEISE

— AR EE438 S

HRBEBARANTFE £

HEFEE

$=1/1000 @@%‘ 1/ 2

BERRBRIERFR BRTE



& 2 M om B s=1/10

R mk (BE)

ETESREE K

REITH]RZ T
RE BETHEAs (13)

BEEET 54 La— b (PK-P)

TREEIE (HREMEL)

7777077077777

WOE N E X

FERET YA TEFER

(HEdr AR

=B
BAFHNETRAa2(13)

o i=1

$=1/10

(A R]

=B
BAFHNET7RAa2(13)

Eheax st K&

RIfEL EE4385 - T MEISE

— AR EE438 S

HRBEBARANTFE £

AR

$=1/10 HEES

2/ 2

BERRBRIERFR BRTE




